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FWZA| BfF | 84450 |1ke 853 162 54| = K 185 | 1.4505 | 1kg 810 648 216
N K| BHF | 17200 | 1ke 324 130 108 [S=+<H| &S | 1,027.8 | 1ke 1,728 1,188 994
ICALCA| & 4,740.0 | 1kg 248 248 86 [E—<y| 88 | 12362 |1kg 1,008 351 238
Z X 5| FF | 74943 | 1ke 1,053 270 81 |&5852L| — - 1kg —_ —_ —_
ol — — | 1ke — — — WAITA| BE 312.9 | 1kg 2,160 1,566 270
[ <&y JtimiE | 17,700.0 | 1ke 216 119 19 |ZAES| — —  |1ke — — —
CEDOLE| HEW | 1,261.3 | 1kg 648 459 367 [AZFED| BE 205.0 | 1kg 1,555 1,145 —
TRyl BE 122400 | 1ke 162 86 65| & ] -— —  |1ke — — —
F53hA€3| BS 261.4 | 1kg 1,651 972 756 |[MA L K| Zkik | 1,980.0 | ke 302 302 97
h FB 2,990.0 | 1kg 864 778 108 |IFhuL&| dLi#BiE | 5,100.0 | 1ke 216 140 108
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& D X FIE 151.0 | 1ke 1,296 1,080 594 [N Ld| — — 1kg — — —
LAEL R 21.0 | kg 1,080 1,080 - =4 F| dtigE | 27,5105 | 1ke 154 119 79
Iz bl BE 148.0 | 1kg 918 918 162 |[L &5 Y =40 201.7 | 1kg 878 648 54
FRISHR| B 39.6 | 1ke 972 864 540 |ELWV=1H| B 216.9 | 1kg 1,296 878 —
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Joyvay—| dtiEE 78.0 | 1ke 1,037 778 540 (% & Z| BB 511.2 | 1kg 792 540 270
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KEDEITOHE [Tkg Bl
C =
B BlE sawsecls ul® & [HES e  BlE shirsmsc|s ulE ] HES fig
Bmanal BEAR | 99400 | 1kg 540 281 216 [ £ E| - —  |1kg — — —
WEDA — — 1kg — —_ —_ XA —_ — 1kg — — —
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